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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weifl @ee e e ¢

a) What do you mean by Categorical

Proposition?
TR Ioe FeTCe 1 (AR 2

b)  Whatdo you mean by validity of an argument?

Ifex (Aol FeT0e 5 (@R 2
c¢) What is material obversion?

BCQICACCICOR T
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d)

g)
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Translate the following sentences to their
logical forms and show which terms are

distributed and which terms are undistributed;

e AR el Ifeies e o woisiie
IS TS (Pl 2 [IoAT € (Pl 2 SIS ¢

1)  Ifitis arose then it will be fragrant.
T Gfb CoNleT= o1 22 wiReET A9l 2 |
1)  Some patriots are not soldiers.
(I (I (il T Cifes |

If “Some Saints are philosopher” is true, what
is the truth value of “Some philosophers are
non-Saint”?

“CPIN @I Y T Ao A5 e B I
(I wTes 27 -1y AbeIoa STorsfety 6 2032

Express the following by Venn diagram:

ceaoce ofas st
Some S are non-P.
& @ ST FI-P |

If A, B =True and P = False, then what is truth
value of (A>P)>(~BVP).

I A, B = 9] &7 ¢k P = eyl =31, 93
(A > P)>(~Bv P) -3 Moyt el e |
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i)

k)

1)
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What do you mean by existential import?

I SRGETF Sl Fe1ce & @R ?

Give an example of fallacy of “undistributed

middle term”.
BRI (T MIAT G0 Tuizge 7l |

What do you mean by Tautologous Statement

Form?

FOIHO] OB 0@ F (I 2

Distinguish between Categorical and

Hypothetical Syllogism.
TRRICo % 1R @ R IR Sy #1995 (e |

Ifp> (qv ~ r) 1s false then determine the truth

value of the following:
(p-~aq)=(~p.~1)

i po(qv~r) fien 73, wigeE e
ARG Ty e S ¢

(p-~aq)=(~p.~1)
What do you mean by logical constant?
(A& P <@l [ (=
Symbolize the following:
Afosifre e ¢
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“It is not the case that, if it’s raining then water

logged and transportation mobilize properly.”

“aae 9 @ T I 23 Ol AV T T @3
e TieaIEs 5eTd 1

If p is true and q is false, then what will be the
truth value of (p . ~q) v ~p?

3 p 7% & ¢ q WA WS (p . ~q) v ~p-47
ToreT 5 7

Answer any four questions: 5%x4=20

@-CFI BIAS e e wie ¢

a)

b)
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Use Venn Diagram to express the following

sentences:

S e gy

fferiee it ceafbras Mg hzifie
Al e

1)  Everything is beautiful.

TRy A |
11)  Some non-S are not P.
(P (P N-S2I P |

Use truth table method to test the validity of

the following arguments:

TeARA Amfed AR e gfeaka @arel
BRERCGIE
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i)  Qv(R.~R),Q/.. ~(R.~R)
ii)) PvQ, ~P/..Q
Explain why according to Boolean

interpretation BRAMANTIP is not a valid

mood.

TN Oy SR BRAMANTIP (34 9% 718 (31 2

What is the problem of induction? How this

problem can be solved? Explain.

I S A 6 2 eI 92 iy e
209 AN 2 IR RN

Determine the truth value of the following:

O *mfoq AR e waeeieEg
opagety foief e ¢

i) (pp)>(qvr)

i) p>[p>(q.~q)]

What is analogical argument? Distinguish

between good and bad analogy.

Tt Ife 62 ©iE @ s Tl gfew [ Ay
fS=qotel St |
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3.  Answer any two questions: 10x2=20

@I 7S 2re Ted M6 2

a)

b)
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Use the method of Venn Diagram to test the
validity of the following argument:
21421421421

coaibean N Wk feslr @as [om

i) AEI-4
iiy EAO-2

111)  All that glitters are not gold, this tinsel

glitters: therefore this tinsel is not gold.

| R S8 EI 3, 92 49 ATS(b 5FHCs;
o9 @ft @i 77 |

iv) He is happy, because all religious

persons are happy.
G193, @ e «ififs wfear 92|

Translate the following arguments into standard
forms of syllogism and test the validity or
invalidity. If any argument is proved as invalid,
name the fallacy with explanation.
21+21+21+21
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fyffie feefs sdimt e s g
FE QR TR SN el ko s @
@ e witay awifie 23, oz (iR S I
AR <P |

i) EAI-4

ii) AEO-3

i11) Truthful alone are honest and truthful
alone are worthy of respect: so all men

worthy of respect are honest.

(FIANG FASTARAT AL AL (FIANE
Al &Tid 9 | oTR &wl @9l
el Ae |

iv)  This syllogism can’t but be valid, for it

has three terms like all valid syllogisms.

3 IR SIS (34 20 Al =1 el (3
TR e 978 foai v Stz |

Use truth table to verify whether the following
propositional forms are tautologous, self-
contradictory or contingent. Give explanation.

5+5

fare pamslm @b Tesre), @
Fosfian Al wivifes o TeptRa siafs 2T I
e zsca it wie |
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d)
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i) [p:(p:r)]:[(r:p):(s:p)]

ii) [(p or).(q> r)] = [(pvq) ) r:|

What do you understand by Experimental
method? Explain after Copi, what Mill calls
the Joint Method of Agreement and

Difference?

A T AT FEI0 [ (@R 2 (@A STeprael
@ W97 Tgn-gfer@ Aafe Swigaesz i
Tl
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